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Construct and make conjectures about scatter plots
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Draw lines of best fit and use them to make predictions about data
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Find the measures of center and variation
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Identify and model points, lines, and planes
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Find and use the sum of the measures of the interior angles of a polygon
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Find and use the sum of the measures of the exterior angles of a polygon
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Recognize and apply the properties of the sides and angles of parallelograms

beibaid] JS dlaiil 77 PORS 0 dsiuimni
P m/-R = /80—129 10. QR = PS

Q
128° s B = I
3

R 5 S 11. QP = R S 12. meS =wmz Q&
= 8 = =

drcal) pliwd) G0 ol al) creds (o ded] eSaad!
) Il cpnl) jlae arss o oo 5lare Hadl
FG=25cmy, FJ =19 cm [OFGHJ 3 .aisLJ)

MZLJHG = 62
Lgre JS ol axl
a. JH =723
b. GH = 1.9
c. msJFG éz
d. mZFJH 13

DO
AR

XSOCLIRIS X)
it

Sblgaon) Il S8 sne Jeelow) giled) S .14
a._.sge.»,sji _)|9_..u“ og>la paiw caialai, (L9 ag__.J%’l
2 Gbln caad Hlud) le masedl el Fo
aad¥ Eiblgasdl g e
.ZLB;_LEL‘;J' —&_i;h.:_“u.” &hﬂu" Ce>9) das> .a

PSzQR , PQ=z SR
alolSzod) Llgsd) cro w9y o> D
ZR, 240

b

4R, 2§
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16 ) y 18to 23 810, 811
Recognize the conditions that ensure a quadrilateral is a parallelogram
ENST gilgie el I JSEI) (8% Eoomy y g x Syl el
18. 2x+ 9 19. 4x — 17 20. = — _ (%X) °
° o X —
d=9
By +19 sy — 12°

x+ 1 X — 1 (y_s)"

ST gileie byl JSAII oS Ceomy y g X dargl s
23. 2x + 4y

— ® =}
21 X+ 3y a-_?

o éy+%x
9= 1 13) D 2
£33l (Sjloin el JSidl oSy Camey i 9 X s>o] e
18. 2x+9 20. (L)
106° (4x —8)° 2
By +19)° - 8y /AL
x+11 y—28)
39 +\9g =106 2xx9 = X+\ =8 =BT .y SLIGEE Tl
Bazlo(r\() 2x-x=\1-9 4 :63 e I
3y %7 x -2 (it Fg)-(C—©
3-% L'T,.g:g -8 _‘,LJ;LUL/LJbL,/,
%: 29 —E{- ‘a
;_—zm JCSD _féj — (2l

,'4;3,5;&\&;3@;(_7 ) @@ | 4G —By= k<@ ekl B
- 2x = 60 20 -BA - . = —‘36:—\2'-(

<y o M =Y _)s.c
_>x:%:go By =--4-120 (‘j_T_)bb
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Recognize and apply properties of rectangles

oy s LL AED )
=y W ZADE =L DAC= 657
=3 m LAED=180-65-65 = 50°

JS Aldninn Slluadl pes § X By JSb e Sloleall padiud gl
Slwlall Js a>sls mz DAE=65° ;185 (AD = 2 ft ;1S9 (AB = 6 ft o5 131

06 ol o | gy et

T = B
10. BC = AD -2 @DB Ve il
=2fio = 6.3
12. mz CEB = m 2 DEA 13. m£ EDC - 90-m« ADE
=50 ilalis - 90-65=25
(Judieit 3 WXYZ u.i\.l;.ll | 0 b &
14. f ZY =2x+ 3 and WX = x + 4, find WX. 4 2% +3 Y
WY =2 = xz=|
2%+ 0= E§A 2 X =) +4
= P
2x -1 = 4-3 :—E
w Y X
16. f mz ZYW = 2x -7 and mz WYX =2x + 5, find mz ZYW. Z 22-F ¥
me ZXW x v WYX =90 |= 4% = 90+2 — 42=92 (‘[\4.
203 ae Dne 45 = 90| = x =92 _ 23 T
- P
4 x—2 =90 = m< 2YW.—?.(92)—?=I39 )
X
17. If ZP =4x -9 and PY =2x + 5, find ZX. v 4 Y
2P = P\( = 2 0C *-‘\Lt Z K= D ('ZP) fo—é
LIK—9:2_7C+5 ¥ = _\E__ :2(4(?)_?) p 2% +5
4x-2X= 549 x=? = (38) :
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Recognize and apply properties of rhombi and squares 23to 30 828

il | 91 ool oo gl ot ABCD (it | Sl i -

22

7. If AB =14, find BC.

Iy :5 2\uo (,.}Lnl Z_;Llﬁl’ G?.
8. If m« BCD =54, find mz BAC.

m LBAD = 54 Ao ¢ mLBAC - L (54 = 235800 b0 00

9. If AP=3x-1and PC =x +9, find AC. D C
AP - PC
- =49 => 3%¥-x = 9+l =>2x=l0 = %= ’%—_ 5 = AC =3¢s)-! =(14)

10. If DB =2x -4 and PB =2x -9, find PD.

DR -2 P8
2¥ =k - 2 [ 2)(—9] = 2% Y= ux—\8 = —L(—\.\g —_L‘X—'Zx = Y=22x
%Z:? %?D:PB :2(1)—9 :@

11. If mz ABC =2x -7 and m« BCD =2x + 3, find mz DAB.

ML ABC + m&L BL D= 30
2% ~F 4 2x A3 =\%o= L4x ~4=\B0o> x-

> Ml DABEmoB) =2(46)+3 =[95]

\Ro+Y
- - 46

12. If ms DPC = 3x - 15, find x.

MéDPC= 90:> 32-";=90':>-Z=_9ﬂ:l35;
3

Olwbal) s s gld MZABD =24 g .PB =12, AB =15 (IS 15| .iur0 (& e ABCD

A 15 8~ 24"
)v @ap (s 9 24.CP =AP -9
DC 25. m£ZBDA - . 26. MLACB = 19090 - 2% = 66

X W bl g a9l WT = 3 415 15) .20 p0 3 §)ke WXYZ
T/ 27.Z2X 203 -6 28. XY - (.3 - 3(7 [=]:
) 29. miWTZ 9o 30. m£LWYX 43
Y Z
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Recognize and apply the properties of trapezoids, including the medians of trapezoids
8. m«sK J K 9. mszQ Q .
R
6 6
80°
M L Tl
m 4 T = Ifo B0 =io6” m £ Q - 180 ~\o = 700
WM L e = m L) C'CEL_)I(/‘)L,:.-Q'/{’UC\_«:/
- loo’
10. JL, if KP=4 and PM =7 @ PW, if XZ=18 and PY =3
K kM: kp-(-PN\ Y \{W‘—‘ XZ :\g
<k -8 3 .- x YW= NP 4 Pw
&
Eosuckm - 22 4 pw
AU (LT Giral = PW = 18-3
; A . W
M a0 0 W5 i ,C = 15

Lo 359 wdymnin dacds lin el ol JSEI SIS 13] Lo a5 doglea Gusdy dl Lelsy JSudy JSU decilly ol 1 duniitl]
) .;,éul Solusio Byio dud JS2I 1S 13]
13. J(4, -6), K(6, 2), L(1, 3), M(~4, -1)
g MLz goSRolims MUNSE

Lk XY ms ol oo,

L4 N2 UG ) b AB ), 2, SO0,
bepten Bk

PANN R e S r 1

MT =J C4= ) (=e-0)" = f2s =5
e il gt coptlal i il yn il

RN G L el Cswal 21
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[

Lo 34> adymio deds I el I JSUEI IS 13] Lo B dople yushy A pelyy JSb JSU donilly dul i ) domi i
8 bl Soluusiin Bymin duds JSl LS 13]
15. W(-5, -1), X(-2, 2), Y(3, 1), Z(5, -3)
Jo XY= JaWZ = H N XY | Nz
X\MY(\(Z A8 B e

-

: q/,}\g_\,\/os_,\i:l-l @A)\r,jj, "Pliﬁ”- a6 cp)wo,;/ oSl =

H{
X
x2 - lge < Gocar - 7 LN

W Y :ES-@HC—\-\)L = 23\1 =3

}x

\ 4

= 2T i = - o 2 i

i it ool S § v ool (QRTU i k| il el
17. f QR =4 and UT =16, find VS.

18. If VS =9 and UT =12, find QR.

Ns = UT+QR 18 <12+ QR
73
g . 12+GR QR =18 - 12
2z
2 (9) = IQ_..’-QR Qp\:
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Recognize and apply the properties of kites

ok b bd usm g0 (20,9 3 5Us UK e byl WXYZ LS 13) ridaied ! gl !

24. YZ w 25. WP X
AN~ wp - (& =\ 247

N/ .
z

Y
26. mzX X 27. mzZ 4 — miA=mLE
_ o - 120—92 _Y52°
e L, 4 "’

;9‘/ ‘ g 57V AW
,\;’Uv)"g
o W®

/’g .

ookl b0 il i gl 19 5 il S (6 Bl WXYZ S 13 subdaid | 2 iisimetd |
24. Y7 w 26.

Bl N I ek -
VWA YIRS ¥ it SV

z X
,,\:,,‘ ¥Y = \(?:? = J8q w <70° 56" >Y

Y Z\*”Y"@:@ Z

a@u&{ @lil(gbﬂlfe 6less 23,0 LW mixX =msL Z = 3607056 |7

045 ] (o | g yid] S 20




e Ll | has | (el Jas ] https://t. me/mathbook 8 %P'fsg) https://t.me/alllaaam82

8 @ a A vog] <
050-2509447 ) el anid -y 5L e b il y clilatial 5 o 3k 3L
255 c @MAR:
19 37to 42 860
Write sets in 3 different ways

el o, alasiwl dcgemo 2S5 37-42 ol ) Al
r* ,, .
.dcga>o u{—i] JQ.J:: .’_.E;...a_g ;4.25;’{;5' .&_C}a_?-_a.ff

37. {10, 20, 30, 40, .. }
38. {3,6,9, 12, .. 1}
16 oo JBY) &5 ,0)) dcacdn)) slae¥) dcsema o X .39
76570 (s 3 y0mmma)) daclal) 3)ae¥) degeme o Z .40
{a,s) cwanl Lesll .41
{as] o) yanl agwl} 42

c,),(ﬁga Pazd ,'py)és)_fﬂv,)\;\;:\i&&k\k}@

(i?y bin 5 8 60 ééf(;/)\ e ast /{Lm; Lol o 2\ %] 68)
5 &8 | ¢ &, Wb asj/tx«é ,g;ds»sz\fz}@
75) 3G 6o syl Y &j/ﬁé,?oc‘,j X, b s 1 \X] o
b sl aj,/g{/wwl ot x| 2 G

2N N [l @ ok at 2@

045 ] (o | g yid] S 21




o Aaladl ihaa [ Gatall Jas = @ﬂg https://t.me/mathbook 8 o P"i;} https://t.me/alllaaam82

050-2509447 o) Gl 508 5 5l """."'* sl ; clilaial y o 3l 38
—— Of < @R

[

dngiin b9 &g J) OIS gosmall Ciinal
10 61to 68 861

Categorize sets as finite and infinite
cE

Té{u}w sae Xg N | ez x[x} .61

62. {1, 2,3, ..., 999 1,000}
f i o)) ase¥) 8y ,5]) dcgena o K .63
¢ s aske) 2 asltl) Guslae) slael L) e X [x} 64
Cellsam oslal ysSs sae x5 N ]I i X [x} .65
66. O< .
Y {gJE} L_,sge;_ﬁ:.é'g_ab,; x[x} 67
{,.S x|x} .68

ide Al i glawiie LS gaes COE 13 Lo dodas
56 B ol g e 69to 74 86l

Specify if two sets are equal or equivalent

Qf_c}a_?-_a.” o ZaJ u(j dfj ;"jj Lo 2u> 69-74 L)_,r_;La_L/f UJ! ﬁ_‘_‘.m_fb

5 ¥y lis ¥ Al (51520 af Lpliuio

SolSeft, v, w, s, uls s, t, u, v, w} .69

s \Cw {10, 20, 30, 40, 501, {1, 2, 3, 4, 5} .70

L s oy, o vi{2, 4,68, ...1,{2 4, 6,8 .71

S ), o U {s ) ks {asls} 72

s\ {@), {3} .73

Lise 30 (o eS8 i) Seudd) clowd ) i XX} .74
Lo { e85 atow cason «Jonlls {asall
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Find the number of elements in sets

79. A= {63, 72,51, 44} 4
80. B=1{10, 11, 12, .. ., 20}
7 {eans¥) 2 0 x[x} = C .81
12 {aedl o i x|x} =D .82
© j{ax}=E 83
bi{s.).J .ot =F 84
0 {cdlu sae X9 N ) e x[x} = G .85

86. H=0 o
A learning outcome from the SoW Undisclosed Undisclosed
24
Aladll dasdl oo 50 Olas p Glas e
A learning outcome from the SoW Undisclosed Undisclosed
25
Abad)! Aasdl ¢yo 736 Slas e Olas e
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